IB Chemistry Test 1 – Atomic Structure

1. (M.02.S) Copper consists of the isotopes 63Cu and 65Cu and has a relative atomic mass of 63.55. What is the most likely composition?

                              63Cu                 65Cu

A.                            30%                  70%

B.                            50%                  50%

C.                            55%                  45%

D.                            70%                  30%

2. (M.02.S) What is the electron arrangement of the ion 168O-2 ?

A. 2,6

B. 2,8

C. 2,8,6

D. 2,8,8

3. ( M.02.S) An element is in group 3 and period 2. How many electrons are present in its outer (valence)shell?

A. 2

B. 3

C. 5

D. 6

4. ( M.01.S) Which species have electronic configurations 2,8,8 ; 2,8 and 2,8,1 respectively?

A. Ne, F, Na

B. K+1, F-1, Mg+2
C. Ca+2, F, Na+1
D. Cl-1, F-1, Na

5. (M.01.S) Elements in the same group of the periodic table have the same 

A. number of protons

B. ionization energy

C. reactivity

D. number of outer electrons

6. (M.95.H) How many unpaired electrons are present in an atom of element number 23 in its ground state?

A. 1

B. 3

C. 5

D. 7

